AZH0|D HAH0|H EHHQI 2 7|Y

=1L 20
A creative, innovative and challenging young company

AN FeMSY|

Low Voltage Induction Motor

www.ikelectric.co.kr

¢ {‘ l K ELECTRIC




MA 2| 0o F&2ut EHS 24&E Tt 7Y

IK ELECTRIC

K ELECTRIC2 =A|Z2| 2|2

20|
704 Y A= 7HHCE S50t ASLIT.

. _ [h
' ﬂllllll‘

. il

e

| \‘?‘:\m o S




CEO
Message

10| =F X2l H=2 7!

[Ret7|sse=

|= IK ELECTRIC

ot= RE{ L HARE 7 SH2 TAb= 7|1ZQ] 17 ShE RE{ R OfL|

— = O
7t 2HE HE2 21 7HH R 2f2H0] 0f R OFS R 7t =0l IS T

ot &A= &M Li7he A2 FE &Rl g2 2olx|at

—_

2o ZUele el EXjet MH| £XHE of 211 JUELICH

OIS0 MA AT EQofet £ -t DEMSEFAIA-(CIO[LIZHE) J2|1
CIXIE 225t A7 § AW GHIS 7|8o 2 £[Xo| HE{E AA5t
1 A|9| EAS QRIot0 2tOH 2022HEE AOE ZEH(Smart Factory)
S SO MY SFHOZ S ZHHJ=NES H3Y = UACTE =
St AFLIC.

HAts QOZ2E T1ZHo| ME|S HIEtOZ X[ 19| QIRYS0| 20 DZH0j|A| 4]
1 SHO HEL MHAE ME3sts 22E 7[R0 2 5 UTE 2 M|
S CHt AUS ALKEE|H, 0 o252 XISHQ el opdgl= g
S REICELC

ZAFEILICE

() IK ELECTRIC CHEO|A}




1979 1989 1997

l Asel S M=o
(MSEEA 487 (QIHA] M)

15 HI18E CERERY

Mz S8 (B71= 2HA)
° ® ' J ® J
® ® ® ® ® ]

1998 2018 2020

ot MAEE - A AL FrameZHet - ™73 CEQIE
(®) HE S - Z2|0|Y(IE3)AUS

2008 2019 2022

2% A% ol 7| gl A2y e
(B71= 3HA) 1150 9I= (Y2 E} = K ELECTRIC)
el AT uLels




B

J {‘ l K ELECTRIC

-,

7))
o
c
Q
o
c
o
@

+ B3 Horizontal Type
+ B5 Vertical Type

+ B35 Horizontal-Vertical Type

* B14 C-Face Type

+ B34 Horizontal C-Face Type

alla,
(<]
o

d)

Chd REHSI|(H

Type : B3/ BS/ B35/ B14/ B34

- NEMA E&

~
Hio
<o
ol
]
0
30
ol

~
Hio
<o
T
o]
B0
30
onl




Klo

| ¢l

o
He

Klo

A ©
2ol

s 9 (€
 ma|n|
=]

%0 R
<0 U
~  OF
S ®
< Llo
o X Ko
2 3 9
Ko 4 O
=] Moo = Klo
o "G o gy
Kil T oo 05
K X K
kRl D
=1
<k &5
— O
o —
il 2w
ol ST
oy 2 fr
o] z ™
® 5o
< . Uuﬁ
L
moel o mH
Hl M 27 m
wo @y HU XU
Ll @0 K MU
w R0 o o
M TR0 &roAr
- el i -
] [=] _ll.ll_ ol 0]
fo W o = oo
o HlRM




6 0.2&?(0.25&@) ~ 160L 18.5KW{25HP)

R
Hi
ol
HH

7] 163~ 160

ml
ol

2l

- &8 10.2 ~ 18.5kW

o]=
30
Wl

Pl
HID

- B3, B5, B35, B14, B34

oAl
ST

=
T

.*l
ES

Jjo

1ok

o=

A
=HE =

aj
=x

j6d

10

LHo

K

B

H2E9| AU 7t
Al
=




02

A TR|0|Y QETST)

- B3 Horizontal Type

- B5 Vertical Type

- B35 Horizontal-Vertical Type
- B14 C-Face Type

- B34 Horizontal C-Face Type



IE3 | of&t Z2|0|Y] RS

L
= O =
z \
o F——0 -
I I FA
—r ]
< 1 oFeeeee e |
o =
as] m |
i 1L K1 1l K1
B C E
BA
Dimensions
. O(Ll‘(tvl\)l;lt Dimension(mm) Bearings
Size Overall DE Shaft extension Base
2P | 4P | 6P | 8P L HA X D E F FA G A B AB BA K1 K2 DE | ODE
63M | 0.2 | 0.2 40 | 206 | 145 | 124 11 23 4 20 2.5 | 100 | 80 118 | 100 7 10 | 6202 | 6202
04 | 04
7IM e 45 | 237 | 169 | 142 | 14 30 5 25 3 112 | 90 | 130 | 105 7 10 | 6203 | 6202
*0.55| 0.4 | 0.2
0.75 | 0.75
80M 09 50 | 266 | 189 | 159 19 40 6 30 3.5 | 125 | 100 | 149 | 130 10 15 | 6204 | 6203
*1.1
15 | *1.1 | 075 | 04
90L AR 56 | 324 | 212 | 180 | 24 50 8 45 4 140 | 125 | 169 | 145 | 10 15 | 6205 | 6204
22 | 15 |0.75
100L - 63 | 360 | 228 | 196 | 28 60 8 45 4 160 | 140 | 190 | 165 | 12 15 | 6206 | 6205
22| 22 | 15
112M| 3.7 | 3.7 70 | 378 | 259 | 222 | 28 60 8 45 4 190 | 140 | 225 | 165 12 15 | 6206 | 6205
*4
55| 55| 3.7 | 22
132S 140
75 89 | 473 | 294 | 263 | 38 80 10 65 5 216 248 | 215 | 13 15 | 6308 | 6307
132M 75 | 55 | 3.7 178
11
160M 210
15 11 | 75 | 55 108 |622.5| 394 |3124| 42 | 110 | 12 90 5 254 286 | 290 | 15 18 | 6309 | 6309
160L | 185 | 15 11 15 254

Note ‘

L7 M2 B2 8 s LS 2loh AE o1 glo] HFE = ASLICE
oplLC]

2. *HAl= IEC/KS RAHEO



IE3 | of&t Z2|0|Y] R=TSI|

B5 Vertical types

Dimensional drawings

T
o
=
==k o FA
- = _
s = = 8l
/_-
= (] o =
fas) fas] |
L_E
L
Dimensions
Dimension(mm)
Frame O(Llﬁ/F\)l;jt Bearings
Size Overall DE Shaft extension

2P 4P 6P 8P |S(Hole)| PCD M N HA L X T D E F FA G DE | ODE

63M | 0.2 0.2 10 115 95 140 | 145 | 206 | 124 3 11 23 4 20 25 | 6202 | 6202
0.4 0.4
71M e 10 130 | 110 | 160 | 178 | 237 | 142 3 14 30 5 25 3 6203 | 6202

*0.55| 04 | 0.2

0.75 | 0.75
80M 05 12 165 | 130 | 200 | 212 | 266 | 160 3.5 19 40 6 30 3.5 | 6204 | 6203
*11
15 | *11 | 0.75 | 04
90L ) G 12 165 | 130 | 200 | 222 | 324 | 180 4 24 50 8 45 4 6205 | 6204
22 15 | 0.75
100L - 15 215 | 180 | 250 | 253 | 360 | 196 4 28 60 8 45 4 6206 | 6205

22 | 22 15

1M | 37 | 37 15 | 215 | 180 | 250 | 272 | 378 | 232 | 4 | 28 | 60 | 8 | 45 | 4 | 6206 | 6205
*4
55 | 55 | 37 | 22

1325
75 15 | 265 | 230 | 300 | 312 | 473 | 263 | 4 | 38 | 8 | 10 | 65 | 5 | 6308 | 6307

75 | 55 | 37

132M
11 19 | 300 | 250 | 350 | 350 | 507 | 263 | 5 | 42 | 110 | 12 | 9 | 5 | 6309 | 6308
11

160M

15 11 5 53 19 300 | 250 | 350 | 409 | 6225 | 3124 5 42 110 12 90 5 6309 | 6309
160L | 185 | 15 11 [E5

Note

L7 N2 2 A Hs SHE ol AP o2 glo] HEE 4= UAELICH
S C

2. *HAl= IEC/KS HHE

o
o
2
I
-

10



vy
W
(&)
T
o)
=,
N
e
=
~+
2
<
()
q
=
n
2

T
7 4-@S(Hole)
T | E ﬁ_ G
i N <
> o= == — | gl J:%\ TS5
> —=1l Y
Ee——e
(LT [T LTI
|_Ki Wl K K2
B C ‘ E A
BA AB
Dimensions
Dimension(mm)
e O(L:(tput Bearings
W) .
Sie Overall DE Shaft extension Base
2P | 4P | 6P | 8P |SHole)| PCD | M N H C |HA| LA L X T D E F FA | G A B | AB | BA | KI | K2 | DE | ODE
63M | 0.2 | 0.2 10 | 115 95 | 140 | 63 | 40 | 145 | 152 | 206 | 124 | 3 11|23 4 20 [ 25 (100 | 80 | 118 | 100 | 7 10 | 6202 | 6202
04 | 04
TIM s 10 | 130 | 110 | 160 | 71 | 45 | 169 | 178 | 237 [ 142 | 3 | 14 | 30 | 5 | 25 | 3 | 112 90 | 130|105 | 7 | 10 |6203|6202
*0.55| 04 | 02
0.750.75
80M 3 12 | 165|130 | 200 | 80 | 50 | 189 | 209 | 266 | 160 | 3.5 | 19 | 40 | 6 | 30 | 3.5 | 125|100 | 149 | 130 | 10 | 15 |6204 6203
1.1
15 | *11]0.75| 04
90L i 12 | 165|130 | 200 | 90 | 56 [212 | 222 | 324|180 | 4 | 24 | 50 | 8 | 45 | 4 | 140 | 125|169 | 145 | 10 | 15 |6205|6204
22| 15 (075
100L 3 15 [ 215|180 | 250 | 100 | 63 [ 228 | 253 | 360 | 196 | 4 | 28 | 60 | 8 | 45 | 4 | 160 | 140 | 190 | 165 | 12 | 15 |6206 | 6205
202215
112M| 3.7 | 3.7 15 | 215|180 | 250 | 112 | 70 | 259 [ 272 | 378 {222 | 4 | 28 | 60 | 8 | 45 | 4 | 190 | 140 | 225 | 165 | 12 | 15 |6206 | 6205
*
5555|3722
1325 140
15 15 | 265 (230|300 | 132 | 89 | 294 [ 312 (473|263 | 4 | 38 | 80 | 10 | 65 | 5 | 216 248 1215 | 13 | 15 |6308|6307
- 75|55 |37 178
11 19 | 300 | 250 | 350 | 132 | 89 | 294 [ 350 {503 263 | 5 | 42 | 110 | 12 | 90 | 5 | 216|178 | 248 | 215 | 13 | 15 |6309 6308
11
160M 210
15| 11 | 75|55| 19 | 300 | 250 | 350 | 160 | 108 | 394 | 409 |6225(3124| 5 | 42 |110| 12 | 90 | 5 | 254 286 [ 290 | 15 | 18 [6309|6309
160L| 185 15 | 11 [ 7.5 254
Note

L7 N2 2 A Hs SHE ol AP o2 glo] HEE 4= UAELICH
C

2. *# A= IEC/KS #ZHZ0| OfL|Ct.

o

11



T
O | o
. - FA
x a ey Dz
S 0 == S
= O O =h
[as] [as]
1 19 E
L
Dimensions
. O(llj(t\;’l;jt Dimension(mm) N
Size Overall DE Shaft extension
2P 4P 6P 8P | S(Tap) | PCD M HA L X T D E F FA G DE ODE
63M 0.2 0.2 M5 75 60 145 206 124 3 11 23 4 20 25 6202 | 6202
0.4 0.4
7IM 055 M6 85 70 169 237 142 25 14 30 5 25 3 6203 | 6202
*0.55 | 04 0.2
0.75 | 0.75
80M 09 M6 100 80 189 266 160 3 19 40 6 30 35 6204 | 6203
*1.1
1.5 *1.1 | 0.75 0.4
90L M8 115 95 212 324 180 35 24 50 8 45 4 6205 | 6204
2.2 1.5
2.2 15 0.75
100L - M8 130 110 226 360 196 35 28 60 8 45 4 6206 | 6205
*2.2 2.2 1.5
112M | 3.7 3.7 M8 130 110 263 378 232 3.5 28 60 8 45 4 6206 | 6205
*4
55 55 3.7 22
132S
7.5 M10 165 130 294 473 263 3.5 38 80 10 65 5 6308 | 6307
132M 7.5 5.5 3.7
11
160M
15 11 75 55 12 215 180 393 | 6225 | 3124 5 42 110 12 90 5 6309 | 6309
160L | 18.5 15 11 7.5

Note

L7 N2 B2 o Hs SHS ol A o2 glo] HEE 4= AELICH
C

=
2. *EAM= [EC/KS #EE0|

12



oy
w
b
L
o
=
N
o
>
~
2
‘)
“
Q
2]
®

L
T i}
- @ S(Tap)
=1 |[| ’
- 4 P
ol |o i G CD
1 —f L <<
x E_/_. — g L N M T
/_-
T
e=I) A=<
is] is] i
A L] ¥
]k WL K K2
B C E A
BA AB
Dimensions
- O(IIJ(t\I'\)I;Jt Dimension(mm) N
S Overall DE Shaft extension Base
2P | 4P | 6P | 8P |S(Tap)| PCD | M H C L HA | X T D E F FA G A B | AB | BA | KI | K2 | DE | ODE
63M M5 | 75 | 60 | 63 | 40 | 206 | 145 | 124 | 3 11 | 23 4 20 | 25 | 100 | 80 | 118 | 100 | 7 10 |6202 | 6202
04 | 04
7IM Py M6 | 85 | 70 | 71 | 45 | 237 | 169 | 142 | 25 | 14 | 30 5 25 3 | 112 | 9 | 130 | 105 | 7 10 | 6203 | 6202
*0.55| 04 | 0.2
0.75] 0.75
80M 09 M6 | 100 | 80 | 80 | 50 | 266 | 189 | 160 | 3 19 | 40 6 30 | 35| 125|100 | 149 | 130 | 10 | 15 |6204 |6203
1.1
15 [*1.1]0.75| 04
90L ST M8 | 115 | 95 | 90 | 56 | 324 | 212 | 180 | 35 | 24 | 50 8 45 4 | 140 | 125 | 169 | 145 | 10 | 15 |6205 | 6204
22 | 15 (0.75
100L - M8 | 130 | 110 | 100 | 63 | 360 | 228 | 196 | 35 | 28 | 60 8 45 4 | 160 | 140 | 190 | 165 | 12 | 15 |6206 | 6205
22122 |15
112M| 3.7 | 3.7 M8 | 130 | 110 | 112 | 70 | 378 | 259 | 222 | 35 | 28 | 60 8 45 4 | 190 | 140 | 225 | 165 | 12 | 15 | 6206 | 6205
*4
55| 55|37 |22
132S 140
15 M10 | 165 | 130 | 132 | 89 | 473 | 294 | 263 | 35 | 38 | 80 | 10 | 65 5 | 216 248 | 215 | 13 | 15 |6308]| 6307
132M 75| 55| 37 178
11
160M 210
15 | 11 | 75| 55| 12 | 215 | 180 | 160 | 108 |622.5| 394 |312.4| 5 42 | 110 | 12 | 90 5 | 254 286 | 290 | 15 | 18 | 6309 | 6309
160L | 185| 15 | 11 | 75 254
Note 1AV A2 B2 9 ds gAME

Ul APH of| 1 glo] HAE 4= AELIC
2. *EAM= [EC/KS #EE0| C

13



(=) -
CiA QEXMET| (FHEH)
- Condenser Running (2HAM 2H )
Type : B3/ B5/ B35/ B14/ B34

- Condenser Starting & Running (2HIA] 7|15 & 28%)
Type : B3/ B5/ B35/ B14/ B34



I

CHAF O E M 7| (HMHE)

HAM 2Hd/ 2HM 7|5 & 2T

B3 Horizontal types

FHJ

Dimensional drawings

T o= okET1]
=z : - —
m—i |
= 8| = 1
R e G —c— — == = = O
A —_—
=
[¢) [¢) L
|| ki ] ki
H 5 {Me £
BA
Dimensions
Dimension(mm)
Frame O(lil('ilﬁ)l;lt Bearings
Size Overall DE Shaft extension Base
2P 4p 6P H C L HA X D E F FA G A B AB BA K1 K2 DE ODE
04 | *0.2
7IM 71 45 | 237 | 171 | 142 | 14 30 5 25 3 112 | 90 | 130 | 105 7 10 | 6203ZZ | 62027Z
*0.55| 0.4
0.4
0.75 | *0.55
80M 80 50 | 266 | 192 | 159 | 19 40 6 30 | 35 | 125 | 100 | 149 | 130 | 10 15 | 6204ZZ | 62037Z
*0.9 | 0.75
*1.1
1.5 [*0.75| 0.75
9L | 22 | *11 90 56 | 324 | 218 | 180 | 24 50 8 45 4 140 | 125 | 169 | 145 | 10 15 | 6205ZZ | 6204ZZ
1.5
22 | 15
100L = 100 | 63 | 360 | 231 | 196 | 28 60 8 45 4 160 | 140 | 190 | 165 | 12 15 | 6206ZZ | 6205ZZ
Note 1LA7I M2 22 9 s A2 Qo AFH o glo] HEE 4 USLICH
2. *EA|E IEC/KS #ZE0| otglLct.

15




il
rad
x
Mo
ra
0%k
~
il
&
x
N
ol
Qo
Mo
gal
00

B5 Vertical types

Dimensional drawings

-
T o o
. i;LJ:‘ FA .G
E¥ - u_L
3 o] = 8
=
= o ErE
[imi] T r
_E
L
Dimensions
Dimension(mm)
e 0(l|,l('§,|:\)lslt : Bearings
S Overall DE Shaft extension
2P 4p 6P |S(Hole)| PCD M N HA L X T D E F FA G DE ODE
04 | *0.2
1M 10 130 110 160 180 237 142 3 14 30 5 25 3 6203ZZ | 6202772
*0.55| 0.4
0.4
0.75 | *0.55
80M 12 165 130 200 212 266 160 35 19 40 6 30 35 620477 | 62037Z
*0.9 | 0.75
*1.1
1.5 [*0.75] 0.75
90L | 2.2 | *1.1 12 165 130 200 228 324 180 4 24 50 8 45 4 620577 | 6204ZZ
1.5
22 1.5
100L 12 215 180 250 256 360 196 4 28 60 8 45 4 6206ZZ | 6205ZZ
*3
Note 1AV A2 22 2 He a2 2ol APd of| 1 glo] HZEE = JASLICH
2. *EA& IEC/KS #ZE0| ogLch

16




Ch QEHST| (HHE)

ZHM 2T/ 2HM 7|5 & 2T Y

types

Dimensional drawings

L
T
o o I
= = FA
I <
v = Dl I3
= = — S
===
O — m— T
D=l
Nl On-T % I
L k1 LK1
B (¢} E
BA
Dimensions
Dimension(mm)
e O(L:(E/;\)I;Jt Bearings
Size Overall DE Shaft extension Base
2P | 4P | 6P [S(Hole) PCD| M N H C |HA|JLA | L X T D E F|FA| G A B | AB | BA | K1 | K2 DE ODE
04 |*0.2
1M 10 (130|110 160 | 71 | 45 [171 180|237 (142 3 |14 |30 | 5 | 25| 3 |112| 90 |130|105| 7 | 10 |6203ZZ| 6202ZZ
*0.55| 0.4
0.4
0.75(*0.55
80M 12 (165|130 /1200 | 80 | 50 {192 212|266 |160| 35| 19 | 40 | 6 | 30 | 3.5 |125|100 | 149 | 130 | 10 | 15 |6204ZZ | 6203ZZ
*0.9 1 0.75
*1.1
15 [*0.75/0.75
90L| 2.2 |*11 12 [ 165|130 /1200 | 90 | 56 {218 1228 1324|180 | 4 |24 |50 | 8 | 45| 4 |140| 125|169 |145| 10 | 15 |6205ZZ | 620422
15
22 | 15
100L P 12 | 215|180 (250 [ 100 | 63 | 231|256 (360 (196 | 4 | 28 | 60 | 8 | 45 | 4 |160| 140|190 | 165 | 12 | 15 | 6206ZZ | 6205Z2Z
Note LAV A2 22 9 He a2 2o APd of| 1 glo] HZEE = JASLICH
2. *EAl= IEC/KS #HEO0]| ofL|ct.

17




n
>
30
|.|'|
>I
om

7| (Mm&)

=M —8—"._30/ ZHM 7S & 2T

14 C-Face types

oy

Dimensional drawings

<
=
Dimensions
Dimension(mm)
Fame O(Lll(tv[\)llj,lt Bearings
Size Overall DE Shaft extension
2P 4P 6P S(Tap) PCD M HA L X T D E F FA G DE ODE
0.4 *0.2
1M M6 85 70 171 237 142 2.5 14 30 5 25 3 6203272 6202772
*0.55 0.4
0.4
0.75 | *0.55
80M M6 100 80 192 266 160 3 19 40 6 30 35 62047272 6203722
*0.9 0.75

*1.1

15 | *0.75 | 0.75

9L | 22 | *L1 M8 | 115 | 95 | 218 | 324 | 180 | 35 | 24 50 8 45 4 6205ZZ | 62047Z
15
22 | 15
100L 5 M8 | 130 | 110 | 231 | 360 | 196 | 35 | 28 60 8 45 4 6206ZZ | 62057Z
Note | 1. A7| A2 ZE 3l Ms At 2l AMH o1 glo] HAE £ UELICH
2. *EA|E= IEC/KS #AHEZ0| opgLct.

18




FEMST| (HHH)

ZHM 2T/ 2HM 7|5 & 2T Y

Horizontal C-Face

4 N\
L
3 0
. J
Dimensions
Dimension(mm)
e O(L:(i\:/[\)l;lt Bearings
i Overall DE Shaft extension Base
2P | 4P | 6P S(Tap) PCD| M H C L HA | X T D E F FA | G A B | AB | BA | K1 | K2 DE ODE
04 |*0.2
71M M6 | 8 | 70 | 71 | 45 | 237|237 | 142 | 25 | 14 | 30 5 25 3 | 112 9 |130|105| 7 10 | 6203ZZ | 620277
*0.55| 0.4
0.4
0.75 | *0.55
80M M6 | 100 | 80 | 80 | 50 | 266 | 266 | 160 | 3 19 | 40 6 30 | 35| 125|100 | 149 | 130 | 10 | 15 | 6204ZZ | 6203ZZ
*0.9 | 0.75
1.1
1.5 [*0.75] 0.75
9L | 22 | *1.1 M8 | 115| 95 | 90 | 56 | 324|324 |180| 35 | 24 | 50 8 45 4 | 140 | 125 | 169 | 145 | 10 | 15 | 6205ZZ | 6204ZZ
15
22 | 15
100L = M8 | 130 | 110 | 100 | 63 | 360 | 360 | 196 | 3.5 | 28 | 60 8 | 45 4 | 160 | 140 | 190 | 165 | 12 | 15 | 6206ZZ | 6205ZZ
Note LA A2 22 Y Hs a2 2o AFE of| 1 glo] HEE = AELICH
2. *EAlE= IEC/KS A EO0| ObELCE.

19




ool O X| = I
- o0 REMSY|

Type :A/ C/D

T RS

Type :A/ C/D




www.ikelectric.co.kr

»

N\
\4




IE3| 42, a4 Zej0jd REMST]

B34 Horizontal C-Face types

Dimensional drawings
/

1l
[

?X

Hlo

4-¢K

E/B TYPE(FRONT)

Type A Type C




Dimensions

Output Dimensions (mm) Bearings(ZZ)
F?me MI\?SEI HP(KW) Flange TAP ShaftT
Z8 i ap | TYPE A [AB | B [BK|@M| H| HA | @X | C L DE | ODE
@N | NA | Y | PCD E @DA | GE F | obP
IK307G1A0 508 | 7.5 | 2 | 8255 55 | 232
100.75) | A 4-M8
IK307G1A1 50.8 | 85 | 2.5| 82.55 127 | 143 | 32
1K307G1D0| 1(0.75) | D | 50.8 | 85 | 25| 82.55 | 2-M8 56.5| 233.5
IK307G2A0| 1(0.75) | A 70 7| 4] 98 4-M8 | 15.88| 187 | 5
IK307G3A0| 1(0.75) | A | 8255| 85 | 1 | 106.4 | 4-M10 | 15.88| 17.7 | 4 55 | 232
80M |[IK307G3A1 127 | 143 | 32 | 297 | 125| 149 | 100 | 10| 15| 80 | 189 | 160 6206 | 6203
IK307G3A2| 1(0.75) | A 4-M10 | 1588 | 17.7 | 4
IK307G3A3 19.05| 21.4 | 4.76
82.55 | 7.5 | 3.5 | 106.4 56.5| 233.5
1K307G3D0 127 | 143 | 32
1K307G3D1| 1(0.75) | D 2-M10 | 1588 | 17.7 | 4
1K307G3D2 19.05 | 21.4 | 4.76
IK315G1A0| 2(1.5) A 4-M8
50.8 | 85 | 3 | 82.55 127 | 143 | 32
1K315G1D0| 2(1.5) D 2-M8
1K315G3A0 127 | 143 | 32
1K315G3A1| 2(1.5) A 4-M10 | 1588 | 17.7 | 4
90L |IK315G3A2 19.05 | 21.4 | 476 | 29.7 | 140 | 169 [ 125 | 10| 15| 90 | 212 | 180 | 55 | 2725 | 6206 | 6204
8255 | 7.5 | 4 | 1064
1K315G3D0 127 | 143 | 32
IK315G3D1| 2(1.5) D 2-M10 | 15.88| 17.7 | 4
1K315G3D2 19.05| 214 | 476
1K315G4C0[ 2(1.5) Cc |9505| 7 | 45| 127 | 4-M10 | 19.05| 214 | 476
1K322G1A0| 3(2.2) A 4-M8
508 | 85 | 45| 82.55 127 | 143 | 32
1K322G1D0| 3(2.2) D 2-M8
1K322G3A0 127 | 143 | 32
IK322G3A1| 3(2.2) A 4-M10 | 1588 17.7 | 4
IK322G3A2 19.05 | 21.4 | 4.76
82.55 12 1 106.4
1K322G3D0 127 | 143 | 32 63 | 303
100L [ik322G63p1| 3(2.2) D 2-M10 | 1588 | 17.7 | 4 | 29.7 | 160 | 190 | 140 | 12| 15 | 100| 235 | 199 6206 | 6205
1K322G3D2 19.05 | 21.4 | 4.76
1K322G4C0 127 | 143 | 32
1K32264C1| 3(22) ¢ |9505| 12 | 1| 127 | 4M10 | 1588 177 | 4
1K322G4C2 19.05 | 21.4 | 4.76
1K322G4C3 19.05 | 20.7 | 32
3(2.2) c |9525| 12 | 1| 127 | 4-M10 61.5| 3015
1K322G4C4 19.05 | 21.4 | 4.76
1K337G3D0 127 | 143 | 32
1K337G3D1| 5(3.7) D |8255| 75| 3 |1064| 2M10 | 16 | 178 | 4 62 | 310
1K337G3D2 19.05 | 21.4 | 4.76
IK337G3A0 1588 | 17.7 | 4
5(3.7) A |8255| 75 | 1 | 1064 | 4-M10 60 | 308
1K337G3A1L 19.05 | 214 | 4.8
1K337G4C0 19.05 [ 20.7 | 3.2
112M 5(3.7) Cc | 9525| 7.5 | 35| 127 | 4-M10 345 | 190 | 225 | 140 | 12 | 15 | 112| 259 | 222 | 62.5| 310.5 | 6207 | 6205
1K337G4C1 19.05 | 21.4 | 4.76
1K337G3D3 1588 | 17.7 | 4 70.5| 3185
1K337G3D4 127 | 143 | 32
5(3.7) D |8255| 8 | 4 | 1064 | 2-M10
1K337G3D5 1588 | 17.7 | 4 73| 321
1K337G3D6 19.05| 214 | 4.76
1K337G5D0| 5(3.7) D | 1016 105 15| 146 | 2-M12 | 22.22| 25.4 | 6.35 72| 320
IK355G5A0 A | 1016| 105| 35| 146 | 4-M12 |2223| 254 | 635 | 39.5 6308
132S 7.5(5.5) 85.5| 389
1K355G5D0 D 127 | 10 | 4 | 181 | 2-M16 | 31.77| 354 | 7.98 | 445 140/1 6309
216 | 248 | 7307| 13| 15| 132| 294 | 263 6307
IK375G3A0 A | 8255| 105| 1 | 1064 | 4-M10 | 15.88| 17.7 | 4
132M 10(7.5) 39.5 83 | 3865 | 6308
IK375G5A0 A | 1016| 105| 1 | 146 | 4-M12 | 2222 251 | 635
Note | &7|AIYE2 B U Ms TS 2l AF 0|1 gio] HAE =~ JUSLICE

23



8, tH REXST|(THY)

B34 Horizontal C-Face types

Dimensional drawings

-
. 4(2)-"E'TAP % S
H DP15 - )
| c i | 0 | N Y /
= I NA
-_4 - 1] Kn\ <
x — i / T|  SHAFT L% SMTI 'K
Y I - e === =; B ,/ _ -
== )
[e) TOF T UJ’OO_
O
DA
oK ‘ L : -C 4-om DETAIL OF SHAFT END DRIVE
- /)
E/B TYPE(FRONT)

Type A Type C




Dimensions

Output Dimensions (mm) Bearings ()
Frgme Model NO. Flange Tap Shaft
St HP(KW)
ap | TYPE A |AB | B |@K|@M| H|HA |@X| C L DE | ODE
@N | NA | Y | PCD E @DA | GE F | @bP
IK107G1A0 A 4-M8
1(0.75) 50.8 | 85 | 2.5| 82.55 127 | 143 | 32
IK107G1D0 D 2-M8
IK107G2A0 127 | 143 | 32
IK107G2AL | 1(0.75) | A 4-M10 | 15.88| 17.7 | 4
80M 29.7 | 125 | 149 | 100 | 10| 15| 80 | 192 | 160 | 60 | 237 | 6206 | 6203
IK107G2A2 19.05 | 21.4 | 4.76
8255 | 7.5 | 3.5 | 106.4
1K107G2D0 127 | 143 | 32
1K107G62D1 | 1(0.75) | D 4-M10 | 15.88| 17.7 | 4
1K107G2D2 19.05 | 21.4 | 4.76
1IK115G1A0 A 4-M8
2(1.5) 50.8 | 85 | 25| 8255 127 | 143 | 32
1K115G1D0 D 2-M8
IK115G2A0 12.7 | 143 | 32
1K115G2A1 | 2(1.5) A 4-M10 | 1588 | 17.7 | 4
90L 29.7 | 140 | 169 | 125 | 10 | 15| 90 | 218 | 180 | 60 | 277.5 | 6206 | 6204
1K115G2A2 19.05 | 21.4 | 4.76
8255 | 7.5 | 3.5| 106.4
1K115G2D0 127 | 143 | 32
1K115G2D1 | 2(1.5) D 2-M10 | 15.88 | 17.7 | 4
1K115G2D2 19.05 | 21.4 | 4.76
1K122G1A0 | 3(2.2) A 4-M8
50.8 | 85 | 2.5 82.55 127 | 143 | 32
1K12261D0 | 3(2.2) D 2-M8
IK122G2A0 127 | 143 | 32
IK122G2A1 | 3(2.2) A 4-M10 | 15.88 | 17.7 4
100L 29.7 | 160 | 190 | 140 | 12 | 15 | 100| 238 [ 199 | 63 | 303 | 6206 | 6205
1K122G2A2 19.05 | 214 | 4.76
8255 | 12 | 1 | 106.4
1K122G2D0 127 | 143 | 32
1K122G2D1 | 3(2.2) D 2-M10 | 15.88 | 17.7 4
1K122G2D2 19.05 | 21.4 | 4.76
Note | &7/ AL S U Ms TS 2l AF 0|1 glo] HAE =~ USLICE

25




1o

R

OF
750
ild
Kl

*NEMA B&




\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

K \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\




Dimensional drawings
s N

FA .G '
MMe M=y & (Orsam)
‘ T
Wl
— %" J‘ T
|
— < Q
\
‘ ‘ K1 ‘ ‘ K1 | k2 ‘
B C E L L A |
BA | AB
o J
Dimensions
Dimensions (mm)
e O(Lll(tv'\);)'lt - Bearings
S Overall DE Shaft extension Base
2P 4P H C L HA D E F FA G A B AB BA K1l K2 DE ODE
73 *0.2 73 52 233 139 14 30 5 20 3 112 90 150 110 7 18 6202 | 6202
79 *0.4 79 47 266 162 19 40 5 30 3 125 100 165 130 10 30 6204 | 6203
*0.4 90 60 269 173 19 40 5 33 3 136 100 178 134 10 34 6204 | 6203
90L
*0.75 | 90 53 290 173 19 40 6 30 35 140 125 190 155 10 30 6204 | 6203
*0.75 | 106 71 336 212 22 50 T 40 4 169 114 | 228 150 11 35 6205 | 6203
106 *1.5 106 | 725 | 355 212 28 60 T 50 4 169 114 | 228 150 11 35 6206 | 6203
*2.2 106 70 370 212 28 60 7 50 4 169 114 | 228 150 11 35 6206 | 6203
*1.1 106 70 335 212 22 50 7 40 4 167 114 | 228 150 11 35 6205 | 6203
*1.5 116 61 360 229 28 60 7 50 4 167 142 234 180 11 34 6206 | 6204
116 *2.2 | 116 65 376 229 28 60 7 50 4 167 142 234 180 11 34 6206 | 6204
*3.7 | 116 67 406 229 28 60 7 50 4 167 142 234 180 11 34 6206 | 6204
Note 1L A7 A2 S Y ds A4S 2ldh AHH o 1 glo] HAE 5= JAELICH
2. *EAE IEC/KS #HE0| OflLct.

28




.30

12,4

.0.2 ~18.5kW
:220/380V AC, 380V AC
T4 1 60 Hz, 50 Hz

1 4 4

I 2 m Jp ox

130

4

©0.2 ~7.5kW
:220/380V AC
I} 60 Hz, 50 Hz

© 1 4 4

4 2 m Jp oz

30,10

:2,4,6

©0.2 ~18.5kW
:220/380V AC, 220V AC
It4= 1 60 Hz, 50 Hz

o 1 4> 4

I 2 m Jp ox

Ab : 3@

12,4,6

:0.2 ~15kwW
:220/380V AC

FIt== 160 Hz, 50 Hz

© 1 4 4

o
i §
=
=
=
X
()

L

NEMA =

Note | FEY /H|FZAE0 tisiM= A SYL0l 26t FA|7| HERILICE

29



or



UMY

220[5 #H 0|4 (Casing)

x| 8 &g meto] 80|

0)|.|:|

I}

IR E

,CHETH

0d k> 2t

IQ O

Dimensional drawings

A I
iy gl

G M
|
M
—
| el F )
IS8
9%
T
4+ 8
el el
. 8 C|_E
Technical Specification
Power Voltage Current Frequency | Static Pressure | Wind Capacity Speed .
Phase (kW) Pole ) @) (H2) {mmag) it (RPM) Duty Protection
10 0.75 2 220 4.5 60 314 8 3,450 S1 ODP
30 0.75 2 380/220 3.5/2.0 60 314 8 3,450 S1 ODP, TEFC
Dimensions
Dimension(mm)
Model NO
A B C E K1 K2 D1 D2 M G L H HA
IKM-HF-0.75S
223 125 46 66 30 8 124 75 66 33 282 472 260 474
IKM-HF-0.75T
Note | &7/ AIY2 ZE U Hs TS LIoH AF 0|12 gi0] HAE = ASLICE

31




e 2

BN
9|

[
\

D1

HA

N )

Technical Specification

orase | PO | poe | Vologe | Cument | Feenoy | sacpesare WndGapay| - Speed | oy | precion
10 0.75 2 220 3.9 60 265 26 3,450 S1 IP55
19 1.5 2 220 4.5 60 285 40 3,450 S1 IP55
19 2.2 2 220 8.2 60 320 52 3,450 S1 IP55
30 0.75 2 380/220 3.92.4 60 265 26 3,450 S1 IP55
30 1.5 2 380/220 7.5/4.5 60 285 40 3,450 S1 IP55
30 2.2 2 380/220 8.2/4.8 60 320 52 3,450 S1 IP55
30 3.7 2 380/220 13/7.6 60 380 63 3,450 S1 IP55
Dimensions
Dimension(mm)
Model NO
A B C D1 D2 | M G L H HA
IKM-TF-0.75S 315 165 55 143 123 90 70 390 530 345 616
IKM-TF-0.75T 315 165 55 143 123 90 70 390 530 345 616
IKM-TF-1.5S 323 165 55 148 122 90 80 423 542 355 637
IKM-TF-1.5T 323 165 55 148 122 90 80 423 542 355 637
IKM-TF-2.2S 323 165 55 195 150 110 56 420 616 355 663
IKM-TF-2.2T 323 165 55 195 150 110 56 420 616 355 663
IKM-TF-3.7T 323 165 55 195 150 110 56 463 616 377 685
Note | &7/ A2 EE U Hs TS 2IoH AR of| 12 0] HAE = AUSLICE
32



L °
o
ARSI AME
37tE ol= 6 7tk Q1=
H3|™cw
%217|5 (D.O.L.starting) Y7|5 (Y - Starting) A715 (A- Starting)
Eiigt 6 0 0
o T T T ?ee ? $ ; ?ﬂa T
L1 L2 L3 L1 L2 L3 L1 L2 L3 L1 L2 L3
KEQ 220V (A-ZM) xRk 380V (Y-Z M) SI3|H™ L CCW
oYY V-A7IS7ts 0—0-o
(Dual Voltage) e cHigl 7t ? ? ? V-1 015 29t
QlE Aot SYUE.
L1 L2 L3 L1 L2 L3 L1 L2 L3
9 7tEf Ql=
e} 220V et 440V HEet 220V et 440V
338 32
izt
(Double Voltage) ? ? ? ? ? ?
L1 L2 L3 L1 L2 L3 L1 L2 L3 L1 L2 L3
2E LR ZM (Y ZH) DE LR ZM (A ZM)
o
T RS AME
B a e
37tEf Ql= 4 7tEf ol 110V 220V
EERE §
(cw) 0 o
POWER | COM
o317 §
(ccw) o ?
POWER
.
5%7 I 3E6r [kgl
s =P 02kW | 04kW | 0.75kW | 15kW | 22kw | 3.7KW | 55kW | 7S5kw | 11KW© | 15kW* | 18.5KW*
" 2 44 6.8 102 154 17.6 304 4% 53 83 89 105
o 4 7 7 14 16.5 25.8 304 50 56 95 99
Note | 47| Data= B3 7|Z0|H, B5SA| 11~18.5kWi= B3ECt 5kg 7t
Mx 24 0.2kW 0.4kW 0.75kW 1.5kW 2.2kW
2 55 75 9.3 14 17.4
e
4 6.9 9.2 127 186 266
33



27| &I

ey somdananazy

- uwAsaEe 05-e7-00005

-amy usy

e Wiz wen wom aan 195

cwmey  waames

cemin o -eseomiy

17188 WAVITRY Y REENE,
X252 90 A NI RO,
220 108,

QCp A7 | ARl

190601 - omas7 &

214849 3229 (Inno-Biz) ¥4

PR T CESREPEP
A 9430

3 & wimengeenias
LTS
#2519 12010.12.17~2022.12.36

A A o128 AY 32019 3L I
299 o149 q $22)9(Inno-Biz) Y ¢ 2
Y

20229 8¢ 199

o o5

HINE AR, A2 S FAAUDE R

5w 2w
[FAN
?i!*l?lﬁ—rd%u

7 2019112966 2

MALLARA AN

LeR A (MOONIRNEY dpTaARL
[somE: (RooNoERES]

129708 21PN 38 UF, A14xe]
2418 X 2e ¥ A9Y ANEAITA G2 9 Lol
[ETTTEFERT TS

§ iﬂ’ﬂ'llsd’ﬂ.a
=

7| 5247](Inno Biz)

T
()
et e

ETFGAMAHRIZA

W oo
S S A 105

2zuMAsosse

51 3lAjo| EEABAIAHO]

ofefle] ZRIAIAE BT eISEe
EREETE

FAgE 15090012015 1450 15090012015
T 2EI% 81

o 2019.12.10
eEeE 2022.12.09
wE 2021.12.03

ii‘ﬂﬁ?_'m

ISO 9001

Gy
e

GoblBesiRegstas

SBFIMA- QIZA

s
B (oo
o D St waz 105

SREHAEQISS

91 2|Ale| SHAHAAR0|

OfHo] ZYA AT EED ASHLION
Egretg o5e.

FPAIEE 150140012015 51150 140012015
UEHH DS $871el

HEOE 2019.12.10
eEEE 2022.12.09
I} 2021.12.03

asymasazyy
b oy

ISO 14001

ESY AMRASHEX ASM

CERTIFICATE OF PRODUCT-SPECIFIC APPROVED EXPORTER

HUNES BRIt of Certities prosucts)

ososuny
ao o5/

azmay [0
Head of INCHEON Customs |F][0]

CERTIFICATE OF COMPLIANCE

ot 1 CAZINONTD
e Rt ESSGTTA 20200412
e iAo

it 1B CoLis
195 Mok o Janganmyon Waaseond . Greons 4o
a5
Reubleof Kroasaa

et crty s PRGYS - otr for Agpiance Apicatons Catid o
i ol Canada Cmporant
S Assandum Page o ProcuctOnsnatons)

St CSACZ22NO, 100 T . i Dt 2014701
Revion Ot 017:0801

atent st S0 UL Ol Cafcatons Diecky st
Do dorsgecto o o addrs ormston

CERTIFICATE OF COMPLIANCE

ot e (8523100070
e £500714 20250012
[ores

Tty PRGY2 - etrs o AppRane Aplcaions - Component
ettt e S Ao Poge o PrcctOnipations)

Horo bean oo by L. in ccndorc i
Camgorant ekt Sanol) WS o0
e 0. Rcores moers e o

Farrranes capesiie s oo on

(q3 Y | —

EU DECLARATION OF CONFORMITY

et e el o e
i a—

002230, 0520, OS02, B30, KT
oL b i KO Ty b

e ‘r‘ "(Eu"q,.‘c

o i i ot
ot documens

ity UL 10041 20 . Dot 012,019, Ron [—

Attt st S th . vt s Doy a.

e e e e o o

Puce ot e [
Datot e o 030
Arareod Sty A
i A
Represratve o e compary

@evtifiente

M @ I

AEASA

i

1 AZENS sy
2 e
5 B¥anA winwweeRIs s

28 e 8 yns A as v
U Rewn s
85 53 aysey

CUYEES, AT A1t 18 ASUAS QAD A3 o
ARIEE(KS)3 UBUAYITA SHHDE, BT, ALSE 2
22 9 B AI0E Aigil tie 9igk 2ol BRIAEB(KSIl
Aeeg ASAIY,

mewwny

@ertifinate

AT G M

AEASA

1 zEANY v
2 annyw Moy
5 BYAR wiseNvounaR s
TEN
2H 8 s o e
G naua s can
G 88 63 2y ne Y

i

CURIRESH, AVE Aitiol TR USUNE AT Ut O
R KSI3} ABUAYIEN HGHIEE, U EEON, AISE 2
[8 W AW A0 A1l nit Slgh ol VFLRAR(KSION
RIS BT,

e wy 2y

L 215 (CANADA)

49497 294

JeEe
aEx:
2mA s
soo12

A LB A AR} FEL
A A} Y499t A3 A%
ARtz AW} AR
AP

BREPRTLABE FIX

34

CE¢l

ol

CEER:R




=
x| M9l LH S ChotELICE

IK Electric2

=
H
s UE0| =5t 544Gt
H
=

MIAl %|219] 7]




J {‘ l K ELECTRIC

www.ikelectric.co.kr

B7|= ok Al FHotH ot 2 195
Tel : +82-31-351-3750  Fax : +82-31-351-3753

s © (€ B o

COMPLIANT

CATALOG Copyright IK ELECTRIC / June 2023

CH2|™




